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4 x Ar-H. 

4.0 H 

2 x Ar-H. 

2.0 H 

2 x Ar-H. 

2.0 H 

CH2 

1.9 H 

CH2 

1.9 H 

NH 

0.9 H Broad HOD & 

2-propanol 

CH2 

1.9 H 

NMR 

solvent 

CH3 

3.0 H 

2 x CH3 + CH2 

7.9 H 

CH3 

3.0 H 

2-propanol 

(1.3 % w/w) 

�

�

�

�

�

�

�

�
�

��

�

��

�

��������	
���
��������

�
�����������	��
���������	��
�����	 �!��∀��∀��
���# �

�∃%



00252550507575100100125125150150175175200200225225

 

NMR Solvent 

CH2 

CH2 

CH2 

CH2 

CH3 

CH3 

C-OH 

C 

C 

C 

C 

2 x C 

 C 

C 

C 

C 

CH 

2 x CH 

2 x CH 

3 x CH 

  ↓↓ 

C C 

2 x CH3 

(2-propanol) 

2 x CH3 
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